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/ General Instructions to Candidates : _ \

® There is a 'Cool off time' of 15 minutes in addition to the wﬁting. time of 2 hrs,

® You are not allowed to write your answers nor to discuss anything with others
during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read questmns carefully before answering.

' All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself. -

Calculations, figures and graphs shou]d be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.

® Give equations wherever necessary.
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INustrate using a Venn Diagram.

u={x|xeN;5<x <15}
A={x|xeN;8<x <12}

B={x[xeN;x isan even number
lying between 5 and 11}. (3)

The sum of the ages of a father and
his son is 55 years. After 6 years,

- the age of the father will be 4 years

b) the profit function.
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more than 2 times the age of his

son. Find their present ages. (3)

(Log 82 )

Find the value of {% Log 4] if

Log 2=0.3010 (2)

The unit demand function is

L o
x =Z(28—8p) where %’ is the

number of units and ‘v’ is the
price. Let the average cost per
unit be Rs. 80. Find :

a)the revenue function R in
~ terms of p. '

(142=3)

In how many ways can you select

2 defectives and 5 non-defectives
from a consig'nment by 12 pieces

containing 3 defectives ? (2)
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a) Find n such that
3.nP, =(n-1)P,

b) How many three digit numbers

can be formed from the digits
0, 1, 2, 3 if no digit occurs more

than once in each number. (242=4)

Answer any one from 7 and 8.

7.

Out of a total number of 2408
persons who were interviewed for
employment in a factory of
Chennai, 1520 were from rural
area and the rest were from
urban area. Amongst women who
belonged to the urban area, 430
were experienced and 165 were

inexperienced in the respective -

job. Of 895 total number of men,
345 were inexperienced and of
these 202 were from the rural
area. Of the total number of
women 143 were experienced and
were from the rural area.

Represent the above data in a (5)
tabular form. o

_ OR
The following figures give the
ages in years and weights in kgs

of 20 people in a town.

Age in 15 (16 |17 |18 |16 |19 (17
years

Weight |40 (49 47 |46 |62 |55 (59
in kg. ]

Agein 25121 (24(17|15|16|22
years

Weight | 46|68(69{59(43|71|51
in kg.

Age in 18126 |20(28| 25|17
years !

Weight |[62(42\41|60{45148 |

in kg.

Prepare a bivariate frequency
table. &)
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Cplegld 143

ool eles 8@ aljlmow woeiR)
ecuendl 2408 apdRencen apdimaio
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a) 3:nP, =(n-1) P, salewouflaj
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9. Indicate whether the following
statements are true or false.

a) Secondary data needs much
scrutiny and should not be
accepted at its face value.

b) You can ask questions which
hurt the sentiments of the
-respondent.

¢) For testing the effectiveness of
drugs for rheumatic fever, the
census method is preferred to
sampling.

d) The list of questions and
provisions for filling answers
and information entered by the
enumerator is called a
schedule. (2)

10. a) Define a variable.
b) What are the different types of
variables ? _ (1+1=2)
11. The following table gives the |
distribution of total serum
- protein levels (g /100 ml) in 116
individuals. -

TotaI.

serum :

protein 4.5 | 5-6 [6-7 | 7-8

level

g/ 100 ml .

Number of 4 {12 | 30 | 46

individuals

Total

serum 8-9 9-10 { 10-11

protein

level

g/ 100 ml

Numberof | 17 5 2

individuals

Draw a Histogram and a

frequency polygon on the same

graph. (4)
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(3+2=5)
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12, In each of the following cases,
explain whether the description
applies to mean, median, mode,
geometric mean or harmonic
mean,

a) That cannot be graphically
determined.

b) If any value in a series is Zero,
its value is also zero.

¢) When we have to compare
values of a variable with a
constant quantity of another
variable eg.: time, distance
covered within certain time,
speed. '

d) that can be used in the case of
open end classes. (2)

- 13. Thefollowing is the data of weekly

earnings in rupees of 200 persons.

weekly _
earnings { 1000-1200 | 1200-1400 | 1400-1600
(inRs.)

| Number of] 3 21 35
persons :
weekly
earnings | 1600-1800 | 1800-2000 | 2000-2200
(inRs.)

Number of 57 40 24
Ppersons '
weékly
-earnings | 2200-2400 | 2400-2600
(inRs.)

Number of| = 14 6
persons

a) Calculate the mean.
b) What percentage of persons
receives a weekly earning
~between Rs. 1350 and Rs. 1700 ?

5

12,

13.
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@Y 2 IGLmMo:
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1200-1400

1400-1800

| 0%
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35

ED¥.0IGOUDmMo:
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ag)eRo
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a) wadd)
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G mMo

b) agim weadme epdendes 1,350
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14. a) Define the following : - 114, a) alededens

1} eweniomvonys onad Sdad

i) Absolute measures of .
! adlmistdanad (Absolute

dispersion . .
measures of dispersion)
ii) Relative measures of i) ceaidial coaud @oad
dispersion - afimiGaidaucd, (Relative

o _ measures of dispersion)
b) Below is given an income '

distribution of a group of b) moey @omidlenym ey &yg0
people. Draw a Lorenz curve of ADRLOIOONS SUMMo BB
the data. aldowielcwrdfal o000y @edal
R L - R ‘
Income. Total | Income (borenz curve) alogs
groups | income | earner QLD BIGID QUM
A 480 21 Mso CU@IMIMo | CLIETBINAID
B 11,920 | 223 A 480 21
c 7,280 | 101 B 11,920 | 223
E 4,160 | 24 D 7,360 | 68
E 4,160 24
| (1+1+4=6) (1+1+4=6)
15. a) For a group of 10 items [15. a) 10 coowmemges @y,
Ex =452, sz = 24270 ' Zx = 452 9o AREMRYOS BB

and mode = 43.7. Find
Pearsonian coefficient of
skewness.

Exz = 24270 go, mpaimes
emol (mode) 43.7 apsamesiia

- afwd smosri@d seagadlany@
goal Misygemey (pearsonian
coefficient of skewness)
I6MYcBs.

b) The first four central moments
of a distribution are 0, 9.2, -3.6
and 122. Calculate the kurtosis ‘
of the distribution. (8+1=4) b) mpajemm moey amudsd emongmy

o , (central moments) 0, 9.2, -3.6,

122 salcwowslaf sdegomilay’

aosms. (Find kurtosis.)  (3+1=4)
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16. Let A and B be the two possible
outcomes of an experiment and
suppose

P(A)=03,P(AUB)=0.8

" and P(B)=x.

a) For what choice of x’ are A and
B mutually exclusive ?

b) For what choice of 4’ are A and
B independent ?

Answer any one from 17 and 18.

17. Four technicians regularly

make repairs when breakdowns
occur on an automated
production line. Jacob, who
services 20% of the breakdowns,
makes an incomplete repair one
time in 20, Tomy who services
70% of the breakdowns; makes
an incomplete repair one time in
10 and Sandeep who services
10% of the breakdowns, makes
an incomplete repair, one time
in 20, Fot the next problem with
the production line diagnosed as
being due to an initial repair
that was incomplete, what is the
probability that this initial

~ repair was made by Jacob ? |

OR

K-28

(2+2=4)

(4)

16.
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OR

18. John has 15 pairs of socks in a
‘ drawer; 5 are red, 4 are brown and

6 are white. Pairs of the same
colour are indistinguishable. Two

red pairs and one white pair are
tunwearable because of holes in

the toe. He selects a pair of socks

from the drawer and notes thatit

is red. What is the probability

that it has holes in the toe ? (4)
19. A weighted coin is tossed two
3.
times so that P (H)=g ,
- 2
P (T)=g. Find :
a) the mean
b) the standard deviation of the
number of heads obtained in_
the two tosses of the coin. (2+3=5)

18.

19,

220
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eoemiloyes 15 ezgoadl
emodsmuyelad 5 oymalo, 4 Eniverd
oo, 6 eigawmeE. aco dﬂomﬁeugg
CaoVeGd @il ajclayaiond
aoousiesflg, apmal 2 emomslago,
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MOEMWALo COGRIIHGSETY

asdlenl ajeaod legene
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B0, (243=5)
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